XI & &% @ F

1 FMEERRBEECARKROHR
(B4 mikha, £EETH)

N - T = Ed P =

= 7 il Balhe pa | BRE (k|| FE|(a2 (s
21 & &
% 4 226 1 225 4 11 103 107 — —
m i} 21 0 21 0 0 6 15 — —
XIRIRE 15,646 39 15,607 403 90 8249 6,865 — —
22 F &
% 4 483 1 482 0 101 267 114 — —
m ¥ 51 5 46 0 4 25 17 — —
XiRE= 60,549 926 59,623 0 5071 44866 9,686 — —
23 & &
s 4 124 1 123 — 7 104 12 — —
m i} 25 0 25 — 7 15 3 — —
XiRE= 55,465 338 55127 — 40461 13300 1,366 — —
24 & [E
% 4 198 1 197 — 77 78 42 — —
i1 ¥ 56 0 56 — 12 9 35 — —
XIREE 28,858 25 28,833 — 14,157 8384 6,292 — —
25 &£ &
#% # 86 1 85 — 10 38 37 — —
M i 14 0 14 — 0 2 12 - —
XGRS 11,265 31 11,234 — 638 5529 5,067 — —
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2 FMAKBEFRREOHES

(B mfEha, £3ETH)

X 4| @ u \ A B X BAK S
FEXR| IES | AR | KAN | 20| %E |(Zof| T B
215
"o 20 7 - - 2 2 - - 9
m & 5 0 - - 0 1 - - 4
WwELE| 1759 599 - - 52 4 - - 1,067
22%
o 20 1 - 3 - - 5
m & 7 - - 0 - - 7
WEEE| 7,999 77 - - 137 88 - - 7,697
235
o 39 11 3 1 5 3 - - 16
m & 6 2 0 0 0 0o - - 4
WEEE| 5210 405 226 306 599 291 - - 3,383
245
"o 16 - - 5 - - 8
m & 1 - - 0 - - 1
=R 383 40 - - 87 - - 256
255
" & 14 9 - - 1 1 - - 3
m & 5 3 - - 0 0 - - 1
WEEE| 3773 1327 - - 0 0 - - 2,446

F) BMEEREFRICED,

3 FLEHEMRREFTOWTRRDOHER

(B ha, AKUNER L B/ 30 %944 m®)

- ~ |HEEO|RZ450 N T Y| RRINRFAZ| DY/
Rl K] RS U L L PN [t DU IO
21 0 0 0 0 22854 0 0 0 17
22 0 0 0 0 22,168 0 0 0 49
23 0 0 0 0 20,837 0 0 0 29
24 0 0 0 0 22807 0 0 0 45
25 0 0 0 0 22435 0 0 0 47
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3 FLHEMFRBREFOHFRRDHER (DDF)

(Bifiz:ha)
X 4| avEus bk HARXZ | Fovx| 4/00 | ¥ B )| 7 A 4
HS LA
21 0 0 0 0 0 27 0 0
22 0 0 0 1 0 30 0 0
23 0 0 0 6 1 24 0 0
24 0 0 0 1 0 22 0 0
25 0 0 0 2 0 23 0 0
F) EMEEBREFRICES,
4 FERFREFTORERVHBRRE(BEE., #BINKREXOH)
RAKEL xR ETE - HERT BB AR 5
R RES
MO R (ELA) Y it 22,435m’ 1,911m’
no (fREREH) — - — —
no (REEK) — — — —
no (FEHIE) K it 39,416ha 5ha
no (FEEYEAR) — — — —
<Y hL N — — — —
B xr X = — — — —
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5. AT REERUHBRRRE (HIHREEDOH)
(B S ha MEE m°)

" F
m F B oE R
BREXEEE | REMBE BR Bx #f 18
TG | LA

ha m° ha ha m®
% # 39,416 22,435 0 5 1,911
EERMEHM 4,723 863 — — _
2ETT 4,676 854 — — —
0 K HT 47 9 — — —
WHEMREHRT 490 157 — — —
oo 316 129 — — —
B K SHT 62 13 — — _
L+ BE HT 51 9 — — —
A 1 fe T 30 3 — — _
I 4 HT 31 3 — — —
AR ERR 2,973 1,014 — — 141
T 440 124 — — —
p | ] 481 180 — — 141
A 2,052 710 — — —
I A=A E R 15,261 6,772 — — 1,100
W ah 13,137 6,029 — — 1,100
;R ] 2,124 743 — — _
EMEMREER 1,428 746 — — _
F & T 671 181 — — —
e ] 261 95 — — _
ILfs/NEFE ™ 496 470 — — —
TREEMEHER 802 760 — — —
TEM 802 760 — — —
RMABHEZMR 2,822 1,769 — 1 70
kM™ 2,822 1,769 — 1 70
FKEMERER 10,917 10,354 — 4 600
] 8,307 8,632 — 4 600
fal E ET 2,610 1,722 — — —

BRBR44 75 = o2 BERR + 5 51 £ I BRBR + B A1k
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